21.

22.

23.

24.

25.

26.

PART - B

ENGLISH (21-45)

Arrange the following words in an order.
Children / are / making / the / noise / a
(A) The children are a making noise.
(B) Making a noise are the children.
(C) A noise is making the children.

(D) The children are making a noise.

Find the missing letters.
EMP-R-R

(A) AO

(B) OE

(C) EO

(D) OA

Find the odd one out.
(A) Cat

(B) Lion

(C) Tiger

(D) Elephant

An instrument used for finding directions is

(A) globe
(B) tape
(C) compass
(D) rope

Hair : Plaiting, then Mop : .........
(A) Cleaning
(B) Mopping
(C) Sweeping
(D) Washing

The plural form of tomato is ......
(A) tomatoes

. (B) tomato

(C) tomatos
(D) None
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27.

28.

29.

30.

31.

32.

Identify the wrongly spelt word.
(A) humble

(B) command

(C) selfish

(D) tosed

A person who cannot speak is .....
(A) deaf

(B) crippled

(C) dumb

(D) blind

The flowers are ......... the vase.
(A) in
(B) on
(C) off
(D) of

Identify the silent letter in often .
(A) o
(B) e
) t
(D) n

The young one of a Pig is ......
(A) lamb

(B) calf

(C) chick

(D) piglet

Identify the correct sentence.
(A) He is played cricket.

(B) He play cricket.

(C) He plays cricket.

(D) I was played cricket.
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33.

34.

35.

36.

37,

38.

Children are fond ..... sweets.

(A) on
(B) at
(C) of
(D) for

The tree is too ....... to climb.
(A) bigger

(B) big

(C) small

(D) biggest

My cousin plucks leaves .......
(A) and
(B) but
(C) over
(D) upon

The Emperor was sitting on
(A) my
(B) your
(C) her
(D) his

B ccicasing of bees,
(A) group

(B) flock

(C) swarm

(D) pack
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39. Idon’ ..o to ride a bicycle.

(B) no
(C) knows
(D) now

O  Read the following passage.

Mary went to the railway station with her parents to receive her
grand parents. She heard an announcement “Your attention please !
Train No. 12727 Godavari Express coming from Vishakapatnam is
running late by 45 minutes. It will now arrive at 9.45 pm. We regret
the delay because of bad weather.”

Now, answer the following questions (40-42).

40. Where did Mary go to receive her grand parents ?
(A) Police station
(B) Bus station
(C). Railway station
(D) Hospital

41. What did she hear in the station ?
(A) an announcement
(B) an advertisement
(C) a public talk
(D) a speech

42. The word ‘regret’ in the passage means ....
(A) Happy
(B) Sad
(C) Thankful
(D) Sorry
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0O Read the following passage.

Mary was very hungry. She tasted the payasam from the first
bowl. “This payasam is too hot to eat”. Then she tasted it from the
second bowl. “This payasam is too cold to eat.” Finally, she took a
spoonful from the third. “This payasam is just right.” Mary gulped all
the payasam. There were three beds in the bedroom. She lay on the
first bed. “This bed is too hard to sleep on.”

Now, answer the following questions (43 to 45).

43. Mary gulped all the payasam from the ........ bowl.
(A) second
(B) first
(C) fourth
(D) third

44. Identify the parts of speech of the underlined word.
She tasted it from the second bowl.
(A) verb
(B) adjective
(C) noun
(D) adverb

45. Choose the opposite of hard in the passage.
(A) easy
(B) difficult
(C) smooth
(D) rough

VTG-BOOK-D [11]




